Vowels: (mod 5) | Vowel{and y)s: (mod 6)

Consonants: (mod 21) Consonant{not y)s: (mod 20)

1. For each number, list 4 equivalent numbers of the same type
1 (mod 5): \}{;éfﬁs Vb, L 18 336, ey dutgeg, . 1T M1
i H %y L k el 3 EER - - ha -1 LA
I (mod 6): | 3 13, 14,95, %Eﬁ};qs ., 601,60%, 5=l 17,
1 (mod 21): Q%‘} {}j }jj ‘5;5;_ o) MQ& o
5 -
1 (mod 20): ‘3| "H){;E %A i} e o}bgj;?»?é > ( }7}
0 (mod 5): il'sfj'} 6{"55})&3 L?‘OJS’"&&WG}WL R VA
40 (mod 6): Lfé £40, {:LH‘{{/ Loode ae- , ~AY, u;{q sev
/4
40 (mod 21): &1, ;’25”@ g, 21098, IO, H)
0 (mod 20): A7, 2 Yo, rete, 20 V0 ey T fé(i{j ~ 150,

2. For any number = {mod n), there is a unique number y between 1 and n with z = ¥

(mod n). This number is called the standard representative of the number. Find this

number 1y for each z:
0 (mod 5 5

0 {mod 21): {l |
~1 (mod 5): Y
~1 (mod 21): 4D
40 (mod 5): 5

40 (mod 21}: 19

0 (mod 6): &
0 {mod 20): §D
~1 (mod 6): 5
~1 (mod 20): <1
40 (mod-6): H

40 (mod 20): E? i{)

3. For each arithmetic problem, write down the standard representative of the answer.

243 (mod 3} &
2430 (mod 5) o
2 x 30 (mod 5) ()
11422 (mod .5) 3

I 3
11 %22 (mod 5) '}

243 (mod 6) 5
2430 (mod 6) &
2 x 30 (mod 6) {J

& o
11422 (mod 6) 3

=P g
11 % 22 (mod 6) ‘4,
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4. For each number, list ALL standard representatives af numbers that work:

V(a‘) Which numbers double to 2 (mod 5): Belice 'J\ 1’3\ 3Ry fj LA
A5 3 g 5
e ’3\ Lg 1 Q

(b) Which numbers double to 2 (mod €): Refore £l ¢ (_é
/ ]u.f" ﬁa

(d) Which numbers double to 1 (mod 6): ;’bf bt &

(¢) Which numbers double to 1 (mod 5):

(e) How many answers can there be?

Iv\r){m faj maaié‘“ ﬁ) M@bé: O arﬁé«t

(f) How do you tell how many answers there are’7 ERery
ey A 'a } é lj' z

(g) How do consonants (mod 21) and consonant(y)s | (mod 20) work?

bosaly Likeiws®,  Wleailike N

5. For each number, list ALL standard representatives of numbers that work:

?”
Beres |
'ﬁx

Triple to 3 (mod 5): Befae ,,:" > HS 'Ly LM?
(a) (rod 3): Belue 1] Y55 Ol Y

o) ‘Trinle to 3 d 6y Eﬁ‘% L ? 2734 %‘;é

(b) Triple o 3 (mod 6) gg\fl,r “F] 535306 Q\\ Ué Eagfgn

: P 3o

(c) Triple to 1 {mod 5): @wk'é, @

(d) Triple to 1 {mod 6}): ﬂ/fﬁ o

(e) Triple to 2 {mod 5):

None
{f) Triple to 2 (mod 6):
(g) How many answers can there be? I\/\ od } """ ¢

(h) How do you tell how many answers there are? ‘
f i &
H j v’lwﬁ»‘ff ;}g,re” j g@j 6 ’

(i) How do consonants (mod 21) and consonant(y)s (mod 20) work?

o I S N T .4 11 7
1100 218 Lifee Medb 110207 Lileo 1125
6. Instead of triple, maybe it is quadruple, quintuple, or even multiply by ’?3

(a) How many answers can there be?

. g (7 s
Yoos £ v Wewe of Two fi"w’{iz& los oo E’Zl
\{ F s D .
WD e N

(b} How do you tell how many answers there are?
™ 5 o . ﬂ( . j; i, E” il L 7
(){mg}\fj 1 EQ “H,w PV i.:oa:ff ¢ 3} o waf-w”i“{ } ¢odivide ¢/ ‘“f“ﬁf)e'fff i v I

Tt



